6-6 Parallel and Perpendicular Lines

Lines A and B are Parallel. What does this mean?
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R Lines R and S are Perpendicular. What does this mean?
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Quick Check: f A

1. Write the equation of a line parallel to the line y = 5x — 4.
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2. Write the equation of a line perpendicular to the line y = 5x —4
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3. Are the graphs of y = —3x + 4 and 2y = 6x — 4 parallel, perpendicular or neither?
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4. Are the graphs of y = f:x +9 and 3y = parallel, perpendicular or neither?

5. Are the graphs of y = 5 and x = 2 parallel, perpendicular or neither?
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Examine the following graphs of Linear Equations
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6. Are the two lines parallel to each other? Justify your answer.
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Practice 6-6 Name

1. Graph and write the equation of a line that is parallel to the line graphed below.
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2. Graph and write the equation of a line that is perpendicular to the line graphed below.
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3. Which equation represents a line that is parallel to the line y=3-2x?

(1) 4x+2y=5 (2) 2x+4y=1 3) y=3-4x 4) y=4x-2

4. Which equation represents a line that is perpendicular to the line y=3?

(1) y=4 (2) y=3x+7 B) y=x 4 x=4
~. Which equation represents a line that is parallel to the x-axis?

~ (1) x=y (2 y=10 3 x=10 4 y=x+10



